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Complete the part-whole models for your number.

Slelele

Colour the correct number of tens and ones to show
one of your part-whole models.

QU
QW
Ay
QA

+

Now fill in the tens frame to match one of your part-
whole models. Use 2 different colours.




46

Complete the part-whole models for your number.

Now fill in the tens frame to match one of your part-
whole models. Use 2 different colours.




32

Complete the part-whole models for your number.

5b &b &t

Colour the correct number of tens and ones to show
one of your part-whole models.

+

Now fill in the tens frame to match one of your part-whole
models. Use 2 different colours.




PCM - Tens and Ones

I can partition a number into tens and ones

Draw base 10 to complete the part-whole model.

Complete the sentences.

There are tens and

The whole is

|
|
|
|
]
|
I
i
|
(I

Complete the number sentences to describe each number.

The first one has been done for you.

a) 39= 30 + 9

b) 70 = +

¢ 12 = +

d) 56 = +




o Complete the part-whole models.

Write four number sentences to match each
part-whole model.

= +
= +

b)
o=’
O © ==
= |+
= |+




PCM — Place Value Chart
Ask an adult to say a 2-digit number.

Write the number in the box, then draw the tens and ones to represent each
number. You could practise writing the numbers in words which you started to
learn last week!

Number in Tens and ones Number in words
numerals

’
5

43 forty three

YRS ASAS ‘l‘"

INE TN RANESN)
VAS L LA L LY
PR STN

SLAbLnufLe

e

NRTFERSNIE,
WANVRNETNRY
ALRTRNLTERULLR




| can compare guantities from 0 to 100 and use <, >
and = signs.

Write < > or = to complete

b | o] }:::
22O sk, )
ool ® o [sl® 09%¢ O 028

Draw pictures to represent the sentences.

a) 16 is greater than 12

7~

b) 11 is less than 21




There are 10 cookies in each tin.

Alex has these cookies. Amir has these cookies.

Cookies| |Cookies| @D @ s OOOD
® || ® @& | 9D

Who has fewer cookies?

has fewer cookies than

How do you know?

Mo and Whitney have each made a number.

Mo’s number Whitney’s number

Mo thinks his number is greater because there are
more objects.

Do you agree?

Talk about it with a partner.



Hame: Diots-

Maths Assessment Year 2 Term 2: Number and Place Value

1. Continue these sequences:

G = I )
C = I )
E > I )
[ I )

2. Circle ony mumber thot has o digit with the volue of sody.

i ] &l 1 -1y 14

3. a) Write these omounts in order of size, storting from the smaollest.

I r h i Ta rr L)

b) Put the < or > or = sign between these numbers.

N T o M

#. Motch the following numbers in words to the numbers in digits.

S 88 a8

sixteen T

seventy four [

sty &7

forty seven &0 —
Vui g




ks Arrmees Tear & Term & lonber snd s Vebs

5. a) 1 horwe 35¢ ond [ give oway 15¢. How much money do [ hove Left?

EMEE ey ":”:F:

:
i

b) Whot colculotion is represented here?

| B

) Here are & digit cords.

7]2]4]e|

Usz ench digit once to make o total of 100.

LU e 2
-

|
i

d) Whizt mumber is 10 less tham 927

ssEMD OF TESTes







